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1 |deiEE 5.0E+2 8.5E+3 3.1E+4 5.9E+3 2.0E-2 4.4E+2 46,163.6
2 |EHE 2.0E+3 1.5E+4 4.7E+3 4.4E-1 4.7E+2 22,4370
3 |BFE 9.5E+2 5.5E+3 2.7E+3 1.5E+1 5.0E+2 9,635.0
4 |EHE 1.3E+3 7.2E+2 1.9E+3 3.1E+2 7.4E+2 4,954.0
5 |BEE 1.4E+3 6.2E+3 2.6E+3 9.3E+0 4.6E+2 10,768.0
6 |ILZE 5.4E+2 1.6E+3 2.6E+3 1.5E+0 2.5E+2 5,024.0
7 |EEBE 1.2E+3 5.1E+3 3.6E+3 6.6E+1 1.0E+3 10,952.0
8 |ZimE 8.9E+2 1.1E+3 8.4E+3 6.8E+2 7.7E+2 11,795.0
9 |IHAKRE 1.0E+3 1.3E+3 2.8E+3 7.6E+2 5.5E+2 6,440.0
10 |BEERE 6.3E+2 5.0E+2 9.9E+3 2.7E+2 2.9E-1 8.8E+2 12,162.8
11 [BEE 4.5E+2 4.0E+2 2.9E+3 1.2E+3 2.4E-1 2.1E+3 6,986.7
12 |FER 2.1E+3 1.2E+3 5.5E+3 1.5E+3 4.3E-2 1.3E+3 11,599.2
13 |E=E 8.0E+0 4.0E+0 1.5E+1 2.1E+2 1.8E-1 1.5E+2 381.8
14 |#BE)IE 8.8E+1 1.0E+2 1.1E+3 7.9E+2 1.2E-1 8.6E+2 2,933.6
15 |[FiRE 1.2E+3 1.2E+3 1.6E+3 1.4E+2 3.9E+2 4531.0
16 [EWLE 9.8E+2 3.6E+2 5.9E+2 6.1E+1 3.6E+2 2,342.0
17 |BINE 5.9E+2 2.2E+2 3.2E+2 9.5E+1 3.1E+2 1,527.0
18 |f@HE 6.3E+2 4 3E+1 25E+2 2.9E+1 2.0E+2 1,157.0
19 [IURE 6.9E+0 1.4E+3 1.5E+3 1.8E+1 4.9E+1 3,035.0
20 [REHER 2.8E+2 71E+3 9.1E+3 2.3E+1 6.8E+2 17,212.0
21 [IERE 1.8E+2 2.5E+2 7.4E+2 5.7E+1 2.4E+2 1,464.0
22 |g%mEE 2.1E+2 2.3E+2 4.8E+3 4.2E+2 1.1E+3 6,801.0
23 |BEHR 25E+2 2.6E+2 5.2E+3 1.8E+2 1.4E+3 7,256.0
24 [=ZER 2.4E+2 1.8E+2 7.9E+2 2.9E+2 5.5E+2 2,046.0
25 [HER 2.0E+2 71E+1 6.9E+2 2.0E+2 1.3E+2 1,297.0
26 |BUERRF 9.2E+1 2.7E+1 5.0E+2 2.5E+2 3.7E+2 1,239.0
27 | KB AF 7.8E+0 5.4E+1 2.0E+2 2.1E+2 1.6E-1 5.1E+2 990.8
28 |[EER 4.8E+2 3.2E+2 1.3E+3 9.2E+2 3.1E-2 9.1E+2 3,910.6
29 |ZBE 21E+1 1.3E+2 1.5E+2 3.0E+1 1.8E+2 519.0
30 [FOFRILE 5.4E+1 9.2E+2 1.0E+3 9.8E+0 2.5E+2 2,262.0
31 |ERE 3.6E+2 2.6E+2 6.6E+2 2.6E+1 1.3E+2 1,435.0
32 |SRE 7.6E+1 7.3E+1 1.7E-1 6.1E+1 210.0
33 |MWLE 1.8E+2 7.2E+2 7.5E+2 5.7E+1 2.9E+2 1,995.0
34 |[LBER 7.4E+2 5.2E+2 2.2E+3 2.8E+2 5.9E-2 2.2E+3 5,927.6
35 [lLOg 9.1E+0 5.8E+1 7.0E+1 1.6E+2 3.8E+1 3320
36 [EBR 1.1E+1 9.1E+0 3.7E+2 5.1E-2 4. 4E+1 432.0
37 |BNIE 2.6E+2 6.2E+2 2.5E+3 4.5E+1 9.1E+2 4,364.0
38 |EER 5.5E+1 8.7E+1 4.1E+2 1.1E-1 1.1E+2 662.0
39 |EsE 5.5E+2 2.5E+3 2.7E+0 7.3E+2 3,752.0
40 [fEEE 1.8E+2 1.1E+3 2.9E+3 4.3E+2 3.6E-2 1.3E+3 5,901.6
M |[EBR 2.8E+2 4.7E+1 7.4E+2 3.5E+1 5.7E+1 1,166.0
42 |RIFE 1.0E+2 1.1E+2 2.6E+3 5.6E+1 3.5E+2 3,197.0
43 |REARR 6.0E+2 3.3E+2 9.2E+3 8.8E+1 1.0E+3 11,275.0
44 | KH R 5.4E+1 1.6E+2 4.3E+2 3.6E+1 1.8E+2 858.0
45 |=igE 4.2E+2 1.9E+2 6.7E+3 2.6E+2 9.0E+2 8,488.0
46 |BREE 6.2E+2 8.1E+1 6.6E+3 3.8E+2 6.3E+2 8,278.0
47 [HhiER 3.7E+0 1.6E+3 1.1E+2 6.0E-2 4.4E+2 21278

2E 2 3E+4 6.5E+4 1.5E+5 1.7E+4 1.3E+0 2.7E+4 280,223.2
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